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1. HgaRl 2012 990 HERY T59 AHEIfER SIE0TS 31e08] 107 8 7

(1) =l fardist =3 (2) TR e TH.

(3) A S o, 4) & FARF. THHAE

Who was the Chairman of Maharashtra State Human Rights Commission till Feb. 2012 ?
(1) Justice Kshitij Vyas (2) Justice Katju M.

(3) Justice Balkrushnan B.K. (4) Mr. RK. Gaikwad

2. e SR W TS S ® AT it UG Ireie T gvifad ?

(1) e = 2) HdgTy "

(3) T S 4) Hi= A

The name ‘Boson” in “Higgs Boson’ (God particle) refers to which Indian scientist ?
(1}  Jagdish Bose (2) Satyendranath Bose

(3)  Amol Bose (4) C.V. Raman

3. 5 fawa’ afteg 26-27 94 2013 TS UR TeWl. Uehedd faew’ Syneed gEe faum e
(A) AT U Ao ST 26 THE & A1 YT SIS IR

(B) ST WohUT oG 43 Tk Do 91 Sl 2T,

(C) a1 9= SIMfdes SR 17 29 2T,

(D) & uftyg fosiin 3G wifSa oA et B,

et v faem sRisR 3T ?

(1) (A) =for (B) (2) (B) =T (Q)

(3)  (A), (B) & (C) 4)  (A) (B), (O &1 (D)

5th “BRICS’ summit took place on March 26-27, 2013. Consider the following statements
about BRICS :

(A) command nearly 26 percent of the World’'s geographical area.

(B) 43 percent of the World’s population.

(C) 17 percent of the global trade.

(D) the summit was held in Beijing.

Which of the statements given above are correct ?

(1) (A) and (B) (2) (B)and (C)

(3)  (A) (B) and (C) ) (A) (B), (C) and (D)

T WIS J / SPACE FOR ROUGH WORK
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4. 2011 = gfe e widan, s g faem QR v YSH HvErd e 2

(1) =@ ¥ (2) wHHE fRRER

(3)  HUST AR (4) o EE 2w

Who was conferred upon the Indira Gandhi Peace Disarmament and Development Award
for 2011 ?

(1) Ila Bhatt (2) Jaimala Shiledar

(3) Saroja Vaidyanathan (4) Aung Sun Suu Kyi

5. [EUS 9K HieaT 9 = WiNeTsd Sires o,

fasten HTET
(2) g fiw ()
(o) wEIeH aHl (i) sifear
(c) Tl <ol (if) gt
(@) wfaw (iv) ST
@@ () (9 (d
M O 6 6@ W
@ ) G @) ()
() ) O @) G
@ O (v @ (i)
Match the pairs with reference to Jnanpith award winner women and their languages :
Recipient Language
(a) Amrita Pritam (i) Hindi
(b) Mahadevi Varma (i) Odia
() Mahasweta Devi (i) Punjabi
(d) Pratibha Ray (iv) Bengali
@ (b (© ()
L © @ @) (iv)
(2) G @) @Gv) ()
(3 @) @ @) (i)
@ ©  (v) (D) (i)

FHeedT HIHTEIS! ST / SPACE FOR ROUGH WORK
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6. ol S WL
FHTa T ATed sHewl SUAU HEd qiolt der war 7 RERINIRE UG
(1) HeRTY, dfes, Mg
(2) AHAYRY, FHAleH, IS

(3) ek, WHEE, HFe, TG
(4) TRNIE WHSS, Fi@

Complete the following sentence.

‘The Cauvery Water Disputes Tribunal’ deals with sharing of the water of Cauvery among
the states of

(1) Maharashtra, Karnataka, Tamilnadu
(2) Madhya Pradesh, Karnataka, Kerala

(3) Karnataka, Tamilnadu, Kerala, Puducherry
(

4) Maharashtra, Tamilnadu, Kerala

7. MM TEEOHER 1 A/t § 15 feder 2012 a1 <™ yRamed snfdfe aFm A=
faffdme fordt womoma = et ?

(1) 10.02% 2) 15.96% (3) 21.00% (4)  07.60%

According to ASSOCHAM report what was the rate of decrease in employment generation
in economic sector in India during 1% Jan. - 15t Dec. 2012 ?

1) 10.02% ) 15.96% (3)  21.00% 4)  07.60%

8. UM SAfeaw U wrel fe'! W[ WS Svam A ?
(1) s Sy (2) A HAFEg
(3) <mifEm (4) @
Whose birthday is celebrated as “National Sports Day” ?

(1) Khashaba Jadhav (2) Major Dhyanchand
(3) Dara Singh (4) Randhava

THeeAT HIATETS! W / SPACE FOR ROUGH WORK

P.T.O.
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9. YRAM ALEFSIE A A FeorR B[ FI0m=! e F{uand Aol ?

(1) H&H=0 (2) eroAR fgm

(3)  TH USH (4) 3fTd FoHUl

Who has been appointed as a Chief Economic Advisor to the Finance Ministry of India ?
(1) KK Batra (2) Avatar Singh

(3) Raghuram Rajan (4) Udit Kulkarni

10. A WEWHE S0 SIeAeeEe T ISR 6o Ras 2012 9eH HudTd
S ?
(1) HeEifows (2) e (3) -9 (4)  TEH
For which research in chemistry, American Scientists have received Nobel Prize 2012 ?

(1) Metabolism (2) Catabolism (3) G- Protein (4) Insulin

11. SEO@IR! RV HE&H G 2012 - S YAFqaT Wiy o ?

(1) STE.TE.3. (2) JIETETEHAR. (3) URIEHL.AR (4) ST THATA,
Which institution has discovered G 2012 - S comet ?
(1y ISO (2) ISSR (3) FICR (4) ISON

12. TR S0 QHart HERISZHeEd SIhIe! faq Tiew w30 I ?

(1) dfge (2) 37&Q @) faw (4) =en
Which Monday of a month is celebrated as a Democracy Day in Maharashtra ?
(1) First (2) Second (3) Third (4) Fourth

13, wESmE (USig M staerEt AN e’ Yl UE 4w el ?

(1) 29 2012 2) 2 W= 2012

(3) 2 WWE 2012 (4) 2 feder 2012

When was the ‘Rajiv Gandhi Jivandai Health Scheme’ started in Maharashtra ?
(1) 2nd July 2012 (2) 2 August 2012

(3) 2" September 2012 (4) 2 December 2012

HoeAT SRIATETS AT / SPACE FOR ROUGH WORK
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14. 9 - 3 JUGEN FHioEd! SIvar 378 ?

(1) 2011-2015 (2) 2012-2016 (3) 2013-2017 (4) 2014-2018
What is the period of Basel - 3 system ?
(1) 2011-2015 (2) 2012-2016 (3) 2013-2017 (4) 2014-2018

15. 9fHG Ag HuAr=a1 AU HIvT=! e HI0ad S ?

(1) T FH (2) T SATS

(3) i fam (4) i Fe

Who has been appointed as a President of the well known Yahoo company ?
(1) Robert Kook (2) Alen Donald

(3) Preet Singh (4) Marissa Mayer

16. HYHK TLHAA SRASTTAR T 2050 T S AR SRGEAT {ohell 375el 3THS 7
(1) UH 7o (2) < e (3) dH 1ot (4) R T
According to the UNO report what will be the population of senior citizens in 2050 ?
(1)  One billion (2) Two billion (3)  Three billion (4) Four billion

17.  HgaRl 2013 TE WA Ao Seeard daiepte faaeren e T v feave s ?
1) fé=A 2) OEE AE I
(3) i 4) R Tk

Which of the following films received the Best Film Oscar Award in the Oscar Award
Ceremony held in February 2013 ?

(1) Lincoln (2) Life of Pi
(3) Argo (4) Zero Dark Thirty

18. WIoRd HH® RAT IHARE T FIvmE! T wivam e ?

1) TSE wmR (2) @ I

(3) ety e (4) HHSY FAR

Who has been appointed as a High Commissioner of India for Maldives ?
(1) Rajiv Shahare (2) Ratan Shah

(3) Ashish Jadhav (4) Kamlesh Kumar

HeAT HMEE! AT / SPACE FOR ROUGH WORK

P.T.O.
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19. TSa Mt WS T TR 2012 FHSTSA [ AT VST YSH HL0A A ?
(1) werg fa (2) fosm AR (3) g fam (4) AR $AR
Who is the recipient of Rajiv Gandhi Khel Ratna Award for 2012 for shooting ?
(1) Mandeep Singh (2) Vijay Kumar  (3) Sudha Singh  (4) Vinod Kumar

20. ‘T FoYNS TRl AT FIREHT TG HI0T TR 2

(1) Fwa fyqw (2) SEHJIM

(3) = (4) WS

Who is the authoress of “The Casual Vacancy’ ?

(1)  Amruta Pritam (2) J.K. Rowling
(3) Nancy Krow (4) Shobha Dey

21. WA dEaTde FeEEd deifeg fasg o fadt guifaer em 2

(1) 3.00% (2) 4.20% 3y 7.50% (4) 8.20%
What is the expected growth rate in the 12h Five Year Plan ?
(1) 3.00% (2) 4.20% (3) 7.50% (4) 8.20%

22. Tt %= aRuaamEr 1 SHaRt 2013 IRE How 9TRE GUIS S H0ATd ST ?
(1) ®TE 2010 (2) ELATH 2011 (3) AT 2012 (4) ELATH 2010

As per Reserve Bank circular which cheque system is in effect from 1%t January 2013 ?

(1) CST 2010 (2) CTS 2011 3) CTS 2012 (4) CTS 2010

23. Hag UM Y9 (GEG gURON) fasee 2012 THR TE quid fhdl aromsn Suaret aiqe soad
A 3T ?
(1) =X (2) 9= @) w& (4) W@

According to Mumbai Gram Panchayat (Second Amendment) Bill 2012, how many village
meetings have been made mandatory in a year ?

(1) Four (2) Five (3) Six (4) Seven

ol HIWTEIE! | / SPACE FOR ROUGH WORK
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24. 1952 =1 UEM o7 FQITHR SUMAT THOT YHUTT=AT Tohelt 2aeh HITER & 3791 ?
(1) 20 (2) 25 (3) 33 (4) 40
As per Forest Policy of 1952, out of total land of the country how much percent land must
be under forests ?
(1) 20 (2) 25 3) 33 (4) 40
25. O JYESTS € A AHIHT HRE RUH HIVIeA] JadEeae T30 TRV S ?
(1) e efe it (2) WS B A
(3) =i gre st 4) He iz
Which website started a movement to get nomination for Nobel Prize to Malala
Yousafzai ?
(1) Nomination.org (2) Prize.org
(3) Change.org (4) Move.org
26. GHIIE TER AfhFI WSS eaeh (¥i7) § I 38 ?
(1) Fm Ag 2) HM S (@) FmEm @) FHw o
What is Semantic Pointer Architecture Unified Network (SPAUN) ?
(1) Artificial Brain (2) Artificial Head (3) Artificial Hand (4) Artificial Leg
27. 97 (TAOUET) SAT TR HIUCAT AT G U 3R 2
(1) 3™ (2) WEHR (3) feaam (4) wgIu
What does Constitution Amendment Bill 97 refer to ?
(1) Health (2) Co-operation (3) Education (4) Pollution
28. TAGHMISA TR SMUR ASHHT 3TRY HIvIAT Fegmigd HIvawd 1T ?

(1) rEYEd (2) 3@ (3) AgER (4) e

In which district the Prime Minister inaugurated the AADHAR scheme ?
(1) Amravati (2) Thane (3) Nandurbar (4) Chandrapur

HTAT HIATHG W / SPACE FOR ROUGH WORK

P.T.O.
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29. HEIH] T AT NG Faid 39 Ydedelad Soie faum foama =i
(A) & e gl Wil feM, qreon 39 o
(B) & stz e Ml Her, et fooch A9 o,
(C) ¥ qdedl 70 e 39 M1 25 27 o 3.
(D) a1 YA AER0 15 Wgar], 2013 TS WA= T .
(E) 3 Yaeodr= a0 15 hgaRt 2013 TSt fagrean qem= #c.

FhGHH! HIR FE & 377 ?
(1) (A), (© s (D) (2)  (B), (C) 3w (E)
(3)  (A), (O =i (E) (4)  (B), (O s (D)

Consider the following statements about world’s tallest statue of Mahatma Gandhi :
(A) Tt is a bronze statue at Gandhi Maidan, Patna.

(B) It is a bronze statue at Gandhi Maidan, New Delhi.

(C) Ttis 70 feet high and weighs 25 tonnes.

(D) The President of India unveiled it on Feb. 15, 2013.

(E) The Chief Minister of Bihar unveiled it on Feb, 15, 2013.

Which of the statements given above are correct ?

(1) (A), (C) and (D) () (B), (O and (E)

(3)  (A), (O) and (F) (4)  (8), (C) and (D)

30. 92011 = SFTVHTER HERIEHE Yo THT0T S §AIRI HBT fohdt ang ?

(1y 773 (2) 883 (3) 972 (4) 975
As per the Census 2011, what is the number of girls per 1000 boys in Maharashtra ?
1y 773 (2) 883 3y 972 (4) 975

31. T GEATEN TOHR 30 MR, AT aiE! S0 61 R, TR e 9 A a1 fRdt 2
1) 13 2 11 @) 91 4) 31

If the product of two numbers is 30 and sum of their squares is 61, then what is the sum
total of these numbers ?

1) 13 @ 1 3) 91 4) 31

el HIHTHTS! ST / SPACE FOR ROUGH WORK
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32. WSS Higvde e 9 = Fe |im wt e 6 9 faemyet 3 e ?
5693693969364396639635439673965

(1) 5 (2) 8 (3) 6 4) 7

How many ‘Y’s are there which are preceeded by 3 and succeeded by 6 in the following
sequence ?

5693693969364396639635439673965

1 5 2) 8 (3) o @ 7

33. 11.98x11.98+11.98 xx+0.02x0.02
qe) x <) Foea for orare) Tev ol o e frde?
(1) 0.04 (2) 0.16 (3) 0.64 (4) 0.09
11.98 x11.98 +11.98 x x +0.02 x 0.02
In this expression, which number should replace x so that we get a complete square ?
(1) 0.04 (2) 0.16 (3) 0.64 (4) 0.09
34. UH TEHEN WY Wel ! TSR ARA. WAl qlee I e 41, Tohar 42 e 46 foan 62 fohen
64 G, T ATEToA Tl SFHTY THIBA Toell ?
(1) 8400 (2) 7200 (3) 9200 (4) 9400

In certain city, all telephone numbers have six digits, the first two digits being 41, or 42 or
46 or 62 or 64. How many telephone numbers will there be having all six digits
different ?

(1) 8400 (2) 7200 (3) 9200 (4) 9400

35. @l feoen fomeaten samdie I=A1 oAl Q&1 95 9 T aqeie Wil #el.
51, 53, 52, 51, 54, 53, 50, 54, 55, 53, 54
(1) W& =54, T AqUieT=51 (2) THEH=5], Th IgUiN=>53
(3) WHAH =525, UF FqA =52 (4) 9HH=53, T Iguiu=51

Calculate the median and the first quartile from the following values of heights in inches
of a group of students.

51, 53, 52, 51, 54, 53, 50, 54, 55, 53, 54
(1)  Median=54, Q;=51 (2) Median=51, Q=53
(3) Median=52.5, Q,=52 (4) Median=53, Q;=51

el TN |0 / SPACE FOR ROUGH WORK
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36. 1728 ¥ ¥S G

(1) 22 (2) 12 (3)
Extract the cube root of 1728.
(1y 22 (2) 12 (3)

18 (4) 14

18 4) 14

37. 47562 A1 GG HHUA HHT w0 GEAT S9N Ho] U o Y& 13 7 9T e ?

1 =5 2 +8 (3)

5 (4) -8

What is the smallest integer which when substracted from the number 47562 will make it

exactly divisible by 13 ?
1) =5 (2) +8 )

38. HIMHRR .

2695+55=__2

1y 39 (2) 49 (3)
Divide

2695 by 55=__ 2

1y 39 (2) 49 (3)

5 4) -8
54 (4) 45
54 4) 45

39, 4 HHaR f9yA &A= GOl 42 3R, T A ged 98[ o wad diedl |eldie wid (Fdl ?

1 5 2) o 3)

4 4 7

If average of four consecutive odd numbers is 42, then what is the difference between the

smallest and the largest of them ?
(1) 5 (2 o ©)

4 4) 7

40. GIOS OTRR F.

7621 x11=__2 .

(1) 76821 2) 73831 3)
Multiply :
7621 x11=__2 .

(1) 76821 (2) 73831 (3)

83831 (4)

76331

83831 (4) 76831

FeT HIWMEIS 9T / SPACE FOR ROUGH WORK
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V256
41. -
13+ V9
1 3 2) 5 () 4 4) o
N6,
13+ 9
1) 3 (2) 5 () 4 4) 6
42, TH TG GAT GRS 7 T SHHIRE TR AT 10 T HAihER 3 R T &1 id TRl bt o
39 R ?
1 17 (2) 16 3y 18 (4) 15
In a queue, Prutha is standing on the 7t place from the front and on the 10th place from
the back. How many persons are there in a queue ?
(1) 17 (2)y 16 (3) 18 (4) 15
43. WO TYUIHET S HY :
2,2
7 3
Lo 2 5 4 g 2
1) 21 ) 20 3) 10 ) 21
Add the following fractions :
2,2
7 3
L4 2 5 4 o 2
M7 @ ®) 1o @ 5
44. THSI 17-4=305 3N 19-7=410 38w ® 23 -5 fodl ?

(1) 18 (2) 545 (3) 554 (4) 455
If 17—-4=305 and 19—7 =410 then what is the value of 23 -5=7?
(1) 18 (2) 545 (3) 554 (4) 455

HEAT HIATETS S / SPACE FOR ROUGH WORK
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45, WIS aodTd YA SR SHIva 3 3THe ?

1 ? 3
9 729 27
T 81 243 6561
(1) 2092 (2) 2296 (3) 2498 (4) 2187

1 "

In the following table which number should be present in place of the question raa:!

1 ? 3

729 27

81 243 | 6561
(1) 2092 (2) 2296 (3) 2498 (@) 2187

46. 23.1 <1 97 FEI

(1) 533.61 (2) 529.01 (3) 409.61 {4y 53361
Find square of 23.1
(1) 533.61 (2) 529.01 (3) 409.61 (4) 5336.1

47. G i fwwd fohe 2
0.65x0.37 -0.65x0.15+0.65x%x0.78.
(1) 6.5 (2) 0.65 (3) 0.065 (4) 0.845
What is the value of the following expression ?
0.65x0.37~0.65%x0.15+0.65%x0.78.
(1) 6.5 (2) 0.65 (3) 0.065 (4) 0.845

48. T aid 100 foremell Rd. @mEA 70 YoId W fawMe 9UE "R 75 ofed. =iae
foreneata Tl o1 72, ARA. W g wOEd o fod 2
1 73 (2) 65 (3) 68 4) 74

In a class of 100 students average marks of 70 boys in a subject are 75. 1f average marks oi
the complete class are 72 then what are the average marks of the girls ?

1) 73 2) 65 (3) 68 @) 74

ol hIATETEI W / SPACE FOR ROUGH WORK
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49. TH ANE ShedTd] 919 5 HHI 3T, AT YT A1l TATe 31 fedel AR, S AT Sk
18 HHl & A 91 6o T ford] ikl BB Slhed STHAS A=A THTRT STS[aT T 79 2
(1) 25 (2) 98 3 27 (4) 100
A cube having each side 5 cm, has every face coloured with a different colour. If the cube
is cut into small cubes of volume 1 cubic cm each, how many small cubes will not be
coloured on any side ?
(1y 25 (2) 98 (3) 27 (4) 100
0.24 x 0.24 + 0.48 x 0.26 + 0.26 X 0.26
50. =7
0.5
1y 0.5 (2) 0.05 (3) 0.025 (4) 0.25
024 x 024 + 048 x0.26 +0.26 x0.26 _
0.5 ’
(1) 0.5 (2) 0.05 (3) 0.025 (4) 0.25
51. wearde faweren fawmh @ feoen wafaimy 9 gen frerer
3 5 7
9 | 25 | 49
27 | 125 | ?
(1) 245 (2) 343 (3) 349 (4) 363
Replace the question mark from the given alternatives appropriately :
357
IEREEREE
27 1125 | 7
(1) 245 (2) 343 (3) 349 (4) 363
52, Wo UEAMGHS HAM AU YEIS U8 HIvM 2

1,2,6,1531,56, __?

1) 92 (2) 81 3) 71 (4) 60
What will be the next consecutive term in the following series ?
1,2,6,15,31,56, __?

1) 92 2) 81 @) 71 4) 60

oAl HIUTEGST ST / SPACE FOR ROUGH WORK
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53. A, B, C ¥l 9goNie HE aqeeRie e faftme q@aaﬁ gafd sied. ®& Jaure, O
AefoeT=AT GEATIET=A ST IVt HEAT 356 7

5 2 3 :
1210 14@6 12@6
3 7 8
A B C

1 3 (2) 4 3y 6 4y 9
The numbers inside the circles A, B, C bear some specific relationship with tre outoiie
onies. On the basis of this relationship, what number should replace the questior wark i
circle C ?

5 2 3
12 10 14 @ 6 12 @ 6

3 7 8

A B C
1 3 (2) 4 () o ) 9

54. Yigedl e &R AeH! T T4 HLla AFANGH R,  SFHNGHAS GEEH ., AT
Hifohdie TH ST&RMET FRYE 9. Tas Hiowd 6 T2 7500 oRd.  JFierde vac
IR 93 e wataiayE e

ab____hg b_ _ba

1_.3_1_2___3_1__1_
(1) 4213 ) 3214 (3) 2314 4) 2413

There is a letter series in the first row and a number series in the second row. Each
number in the number series stands for a letter in the letter series. In each series some
terms are missing. Find the last four terms in the number series, from the given
alternatives :

ab____hg_b_ _ba

J1_.3_1_2___3_1__1_
(1) 4213 ) 3214 (3) 2314 (4) 2413

oA RTHTETS! ST / SPACE FOR ROUGH WORK
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HATSTE1 50 foRHT ST T =1 Wsheas SaH e 4 Jois arael 12.5 fhet siat mal. g
12.5 fordl SR TR d1 20 TfTere fagidt Sd. @ ener §yol ey Sar fad! 9e ane ?
(1) 5amH (2) 4am20ffe () ssm2ffe @ 6w

Manoj wants to cover 50 km distance on his bicycle. He covers 12.5 km per hour. After

every 12.5 km, he takes rest for 20 minutes. How much time will he take to cover the
entire distance ?

(1) 5 hrs. (2) 4 hrs. 20 min.  (3) 5 hrs. 20 min.  (4) 6 hrs.

56.

v fa=gren Sl oTge quie e,

80:120::2:224

(1) 168 (2) 160 (3) 180 (4) 100
Choose the correct alternative in place of the question mark.
80:120::?:224

1) 168 (2) 160 (3) 180 (4) 100

57.

T aid o A1 faward 30% fasnedt syl s smea 9 fagra 45% famnedf ST e
3D, Il T 39l Feeaid] Thait 40 3T, -l fowamd Al soedi=l §edl 150 $HS
A 1 TG Wl foemeft ot ?

(1) 500 (2) 150 (3) 1000 (4) 700

In a class 30% students have failed in mathematics and 45% students have failed in sciernce.

The percentage of the students who passed in both the subjects is 40. If the number of
students failed in both the subjects is 150, how many students are there in the class ?

(1) 500 (2) 150 (3) 1000 @) 700

58.

e, fexan, o1, faaer =1 T fod 9/ FH THYS UF SEA™ 67 =T FHIHTE fga o
T= T8 ?

(1) e () fyae (3) fewn (4) o

If Blue, Green, Red and Yellow coloured bulbs are fitted in this order, what coloured bulb
will be at S5r. No. 67 ?

(1) Blue (2)  Yellow (3) Green (4) Red

59.

S+ WIS —, —TUE X, X RN <+ M+ TS+, T
15x3+15+5-2="?

(1) 30 2y 0 3) 6 (4) 10
If + means —, —means X, Xmeans + and <+ means +, then,
15%x3+15+5-2="7

() 30 (2) O 3y 6 4) 10

FeeAl HTHIEE 90 / SPACE FOR ROUGH WORK

P.T.O.
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60. feocar 9&=1 Suidio Taoe 9 Il
4,8, 16, 44, 64

(1) 22 (2) 28 (3) 32 (4) 34
Find the missing number in the given number series :

4,8 16, __ , 44, 64

(1) 22 (2) 28 (3) 32 (4) 34

61. WE@IH! HUM 97 Fod TieH, ToaH 10 o] Ardie Hay geifad ?

N

Which figure represents the relation between Proton, Electron and Atom ?

/\\\
& @ ° o (P9 ) @ @ (o

62. Titar Hiar en WS oM. Hian Sidn eq Wit okq T Gen SR R, gavn, 31 i S van o
g, Hier Bt Ter AT R, R Held oEH v

(1) (2) (3) g (4) =1

Geeta is older than Sita. Meeta is older than Sita but younger than Geeta. Suvarna is
younger than both Hari and Sita. Sita is older than Hari. Who is the youngest one ?

(1) Geeta (2}  Meeta (3) Suvarna (4) Hari

63. TvAIEE faren fewmh A gen feoen wragd faer

3 115 5
5 | 35
9 ? 5
(1y 54 (2) 50 (3) 49 4y 45
Replace the question mark from the given alternatives correctly :
3 015 5
5 |31 7
(o] 2[5 ]
(1) 54 (2) 50 (3) 49 (4) 45

el HTATATS! ST / SPACE FOR ROUGH WORK
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64. FSEE [ F&7 U &3hes RS SATFEN T e,

B
A
C D
E ~ F
() B,CD (2) B/DF @) CDF 4 EDB
Observe the graph and select a group of figures, having the same area.
B
A
C D
//
E F
1)y B CD (2) B/D,F 3 CDF 4) EDB

65. AWa A fragd Repmdt smm .

1,3,9 27,81, ___,729

(1) 243 (2) 108 3) 90 4) 641
Select the correct alternative to fill in the blank.

1,3,9, 27,81, ___,729

(1) 243 (2) 108 3) 90 (4) 641

66. T TEAT TEUIUET 37 TE AR gu e faudiden 5 7 o ong faadt dean <refiven 13 3 @8F
AR, ANE GEATE 9w 96 4d T-Held WS F Haid o Heldie T fohdl 3 ?

1) 19 @) 20 3) 21 4) 22

One number is smaller than the second number by 3, the second number is smaller than
the third number by 5, the third number is smaller than the fourth number by 13. The
total of all the four numbers is 96. Then what is the difference between the greatest and
the smallest number ?

(1) 19 2) 20 @) 21 @) 22

FHeeAl hTHTEIS! 90 / SPACE FOR ROUGH WORK

P.T.O.
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67. TIPS ATHad Y= SR S0 &l 45 7

3) 13 (4) 19

3) 13 (4) 19

68. foosedr faumii=an Har=ar 2N Hivdr 6y siedl 950 7

(©)
1)
2
)
(4)

Th FAME 11 § 12 ST, ST B1aH 9 FHR0R, Wesd 0N, Fid FEEEe! I
R4

FTd FACHET AGTIF AU SIVEAT=a] IAEE] ¥d S U] Hed FI041d
SHGARIIh! FTET &Y T4,

FAETE! S FRCATH HUAHE! §d RO AadE] W AT,

Ffq FALH THSS o IHEAR ST &1aH HTH FHIOMN 7.

ETEAT BTN HTH 0T Wl IO SIvTed SUarEre! Hedre T 3.

Which of the conclusions can be drawn on the basis of given set of statements ?

(@)

(b)
(©)
(1)
(2)
3)
(4)

—~~

Only left-handed school learners between age group 11 to 12 are eligible for
performance test.

All female candidates are assisted to practise skills required for performance test.
Some of the candidates are males.

All learners needed assistance for practicing skills required to perform. ¢
All participants appearing for performance test are left-handed.

All female participants needed assistance for practicing performance skills.

All left handed learners needed assistance for practicing skills.

oA HTATHTS SN / SPACE FOR ROUGH WORK
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69. &3 Ffor fastd wwr fogeed fomes. o1/ 3 .41, SWene =eel aifn 39dee gz o
4 T A e, fors wfvawens 5 fa Y. =meen o1 Ssdisne Je 3 o . areer ot <
TEHHFHTIT ferdt X 21mea ?

(1) 10 .. (2) 9 fwHL (3) 8 fwHL (4) 6 T

Akshay and Vijay start from a fixed point. Akshay moves 3 km North and turns right
and then covers 4 km. Vijay moves 5 km west and turns right and walks 3 km. Now how
far are they, from each other ?

(1) 10 km 2) 9km (3) 8km 4) 6km

70. G Ul WA UG HS THOS! Aed. TN @ HETH A FNE A FAATA] ITAENH

TESTT AR, Ve BT THI= ITATENE W AT SAWNHE g0 AR, T T8 H0
FESS AR ?

~

1 oA (2) e (3) Twm (4) B

In the classroom, five boys are sitting in a row ; Prakash is to the left of Mohan and to the
right of Aman. Rohan is sitting to the right of Naman, but to the left of Aman. Who is
sitting at the centre ?

(1) Aman (2) Rohan (3) Prakash (4) Mohan

71.  HERY TS GUEN Sl qoi-=aq faHdl o8 ?
(1) 140 ®.HL. (2) 135 @4 (3) 155 9.4 (4) 130 w4

What is the average annual rainfall of Maharashtra ?

(1) 140 c.m. (2) 135 cm. 3) 155 c.m. (4) 130 c.m.

HoeAT hTHTETE! ST / SPACE FOR ROUGH WORK
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72. SIS O
A B
(a) Hea M U e (i)  TAYEl
(b) I AL FEH (i) FER
(c) TSI= TET SEH (i) HIE ITTR
(d) o= T e (iv) TR

(@ () (o) (d)
1 @ @) Gv) @)
2 @) @O @ @)
(3) () @) (v) ()
(4) (v) (@) (D) @)
Match the following :
A B

(a) Sanjay Gandhi National Park (i) Amravati

(b) Gugamal National Park (i) Chandrapur
(¢) Tadoba National Park (ii) Mumbai Suburban
(d) Pench National Park (iv) Nagpur

@ () (@ (@
O © @) §Gv) 3@
(2 @ @O @ @)
@) @) @@ Gv)
4) Gv) (@) @@ @

AT SIATETE! S/ SPACE FOR ROUGH WORK
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73. Wiioo el sl

I- fSrear I - @
(@) =W (i) weEEe, /i, fre i
(by el (i) OreEtTs, TTEe], dEe, arFmEe
(¢) T (i) DEEE, AL, SPHEEe, THEL
d) TS (iv) «TeETEe, MR, JTEel
(a) (&) (o) (B
L @) @) Gv) @
(2) @) (v) @ @)
3y (ivy (1) () (i)
@) @@ @ @) (@)
Match the following :
I - Districts II - Minerals
(@) Chandrapur (i)  Bauxite, Salt, Mineral water
(b)  Gadchiroli (i) Iron ore, Limestone, Granite, Bauxite
(c) Ratnagiri (iii) Iron ore, Limestone, Dolomite, Granite
(d) Raigad (iv) Bauxite, Cromite, Limestone
(@ (b) (o) (d)
O G) @ @) 0
@ ) v 0 )
G) (v O ) (i)
@ G 0 @) )

74. 2011 SVHAER WoGuh! Sivel fean aifis S Gen e ?
(1) o (2) g STTR (@) wfws 4) g

According to 2011 census, which of the following districts has the highest female
population ?

(1) Thane (2)  Mumbai - Suburban (3) Nashik (4) Pune

75. Teg foeel aedl Wio@ush! wIvn oo dafq et digeh 3Ted 7

(1) FgER 2) 4= (3) (4) femen

Apart from Mumbai district, which of the following districts has the least number of
talukas ?

(1) Nandurbar (2) Dhule (3) Jalgaon (4) Hingoli

THoeAT SHIATATS! ST / SPACE FOR ROUGH WORK

P.T.O.
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76. Taanel ¥ Foed samETeN SieER fagyd 9 yd ausareanie gaWE @oioE! wive
TR 3717 7

(1) Af 2) Am (B) Aw (4) As

According to climatic classification by Triwartha the climate of Vidarbha and Eastern
Marathwada is which of the following types ?

(1)  Af 2) Am (3) Aw 4)  As

77. WIGGUHT RO ST IRTeaTd AITHM FHel Faid < 3T9d ?
(1) ¥« (2) HOR 3 (4) ATTE

In Summers, which of the following places has the highest range of temperatures ?

(1) Mumbai (2) Solapur (3) Pune (4) Nagpur

78. TR WSB! Hivrear fSTon qaiq S wreardrest feggi=t i &d ?

(1) e (2) TR

(3) TTTsES] (4)  QedErEr

Which of the following stations record the highest number of rainy days ?
(1)  Amboli (2) Mahabaleshawar

(3) Gaganbavda (4) Sawantwadi

79. HIEA IWE WHGTSH! FIVET GIeT e ?
(1) AR ) =ug (3) e (4) &l

Which of the following creeks is to the North of Mumbai ?

(1) Dharmpur (2) Vasai (3) Bankot (4) Karti

Hoell SHIATATS! W / SPACE FOR ROUGH WORK



80. Sirew ol :
LSl
() AR
(b) T
(© T
(d) STERY
(@) (b) (o)
1) @) @) ()
() G @D @
@) @© (@) ()
4) @ (@) ()
Match the following :
Column I
(a) Ballarpur
(b) Ratnapur
(c) Rajura
(d) Awarpur
(@ () (o
1 G (@ @)
@) @) @) @
@) © Gv) (i)
@ @ @) @)

(d)
)

(iv)
(i)
(iv)

25

wWH 1

fqHe wE

Column II
Limestone
Coal
Iron-ore

Cement Industry

GO2

THEEAT HTATETS! / SPACE FOR ROUGH WORK
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81. \’\E EOINGICI

WHI WH 11
IR e TS
(a) ST (i) e
(b) TTEE (i) A
(c) SEATE (iti) FeSTH
(d) w1 (iv) e
@@ (b) () (d)
1) Gv) G) @) @)
@ @ Gv) @ (i)
G) O G @ @)
(4) @) (@) @) (i)
Match the following :
Column I Column II
Cities On bank of river
(a) Jalna (i)  Godavari
(b) Gangakhed (i) Morna
(c) Osmanabad (ii) Kundalika
(d) Akola (iv) Bhogavati
(@ () () (9
(1) Gv) @) (@) (1)
@ @ (Gv) @ (i)
@) @ @) @) (v)
(4) (D) (@ @v) ()

oAl HIUEE AT / SPACE FOR ROUGH WORK
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T foreg
(a) dfeETRe (i) T
(b) HTEE! (i) wem
(c) IR (iti) TR
(d) w8 (iv) IS

(@ (b) (o (

1) @) Gv) @)
2 O @) @) (i)

(

(

~—

@) ) (i)
4) @ O @)
Match the pairs :

Mineral District
(a) Bauxite (i) Kokan
(b) Limestone (ii) Bhandara
(c)  Chromite (iii) Kolhapur
(d) Salt (iv) Yeotmal
(@) (b} (c) (d)
M G @) 6@ 6
@ O (v) @@ G
@) @ @ 0 W)
@ G O @) )
83. 2010 U HETE! SUTH Yhed TIOISIh! HIUel SYIRTAT e TN ?
1) U (2) HE (3) TR (4) T e
Which of the following sanctuary was declared in 2010 as Sahyadri tiger project ?
(1) Radhanagari (2) Koyna (3) Chandoli (4) None of these

84. ToEoey ¢ o 7o fohol sToyed! feedie wivn SR T [uferdrd 2

(1) ¥Y-HerRd (2) WA - 3feer

3) TiaeTs (4) S@TH! HIORE T

Which hill range boasts of Chikhaldara hill station in Amravati district ?
(1) Shambhu Mahadev (2) Satmala Ajintha

(3) Gavilgarh (4) None of the above

THoeAT SHIMTETl ST / SPACE FOR ROUGH WORK

P.T.O.
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85. WIGGYE! HIUT HROMH HERFAIS THITHVRAN Hehd 2.9, J@ 1200 =0 ARE @Y qae ?
1) = (2)  S=h1D (3) g (4) e

What was responsible for extinguishing of Bronze Age Culture in around 1200 BC in
Maharashtra ?
(1)  Floods (2)  Drought (3) Earthquake (4) Landslide
86. 2011 =1 SATNTER FERISEMIG @oi@ds! Hive Segma oie qedl uaifis gaid s
RUTCHE 16 A ?
n ™ (2) e e (3) TeTfE (4) fayg
As per 2011 census in which of the following districts decadal growth of population was
most negative ?
(1) Pune (2)  Mumbai city (3) Ratnagiri (4) Sindhudurg
87. TERIEr=A! AN fEan fEat srafases gew _ grEfadr.

(1) T ST o O e (2) T HEA o FOR T
(3) e HHE! Y9 IR T (4) U AT Yy HLTT T
Dotted area in the map of Maharashtra shows _
= Ve
,r',' (S, A
~/"“\ D (z)
Y <
g y 7
o
i
_—
;,«"j )
§,/
(1)  Region of heavy soil erosion (2)  Region of moderate soil erosion
(3) Region of less soil erosion (4) Region of very less soil erosion

sheedl ShTHTATS I / SPACE FOR ROUGH WORK
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88. WIAIGUH! FIvEl fheen qqg foheor 81 ?
(1) @red-3<d (2) FomE
(3) I 4) feuwr
Which of the following forts is not a Sea Fort ?
(1) Khanderi - Underi (2) Kulaba
(3) Korlai (4) Hirakot
89, TOI@HH! hHIHUIS Hald ois Fat FHIow ?
(1) Sc=TE (2) e (3) Hwo (4) e
Which of the following rivers is the longest river in Kokan ?
(1) Ulhas (2)  Savitri (3) Vaitarna (4) Vashishti
90. WISGUHI HIKUIS TaT=T HIVAT HH ITHZ TRTIHS SR TS 2
(1)  OTIeTI, ST, T, Saon
(2) SO, T, AT, AT
(3) TS, SN, TSI, STl
(4) T, QTG FAROT, AT
Which of the following sequences of rivers from North to South in Konkan is correct ?
(1) Patalganga, Bhatsa, Tansa, Vaitarna
(2) Vaitarna, Tansa, Bhatsa, Patalganga
(3) Tansa, Vaitarna, Patalganga, Bhatsa
(4) Bhatsa, Patalganga, Vaitarna, Tansa
91. TENIRMT WSGUH! HIUET ST IV Ha e Al a1 THE oran ?

(1) SO HicaHa =k THHS! o 2) 3w Ffedgd FausEia =1
(3) 3w wicaEig Herlia aq (4) 38 UFHEl =

Which of the following forests in Maharashtra is called as Tropical monsoon forests ?

(1) Tropical dry Deciduous forest (2)  Tropical semi Evergreen forest
(3) Tropical Evergreen forest (4) Moist Deciduous forest

Tl HIHTHTS S / SPACE FOR ROUGH WORK

P.T.O.
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92, ‘whiHdr:’ A HENPNIS AT 39 feraw= 39 fandt et o1me ?

(1) 1046 . (2) 1064 Hi. (3) 1640 HI. (4) 1460 HI.
What is the height of ‘Kalsubai’ the highest peak in Maharashtra ?
(1) 1046 m (2) 1064 m (3) 1640 m (4) 1460 m

93. TTHI HeNEE fomien faamene B i TR,
(1) w9t (2) < (3) HeH (4) @Tden! UwEl AR
Female migration due to marriage is in rural Maharashtra.
(1) low (2) high (3) medium (4) none of the above

94, WHGIH! TERIPM Faid & §%he FTSST TINEH G faamT FHivr ?

M ™ (2) SR (3) TR (4) e
Which of the following administrative divisions in Maharashtra has the largest area ?
(1) Pune (2) Awurangabad (3) Nagpur (4) Nashik

95. TISHATR O WOIGUh! HIUET TSET TS T ?

(1) aFE (2) o (3) (4) Sw™
Modaksagar reservoir is built on which of the following rivers ?
(1) Tansa (2) Vaitarna (3) Bhatsa (4) Ulhas

96. 2011 =T TTVHIHR HERIEIA UTHIU IITTE! @ik G Tohdt <akh Bl 7

(1) 50.76 (2) 66.70 (3) 54.77 (4) 67.78
As per 2011 census, what was the percentage of rural population in Maharashtra ?
(1) 50.76 (2) 66.70 (3)y 54.77 4) 067.78

97. WoGUH! Hive fSeand safedd 9deq ?

(1) g (2) faygt

(3) ¥er & Tifga (4) W@

In which of the following districts Vanadium is found ?
(1) Nagpur (2) Sindhudurg
(3) Bhandara and Gondia (4) Satara

ool hIHTETS! AT / SPACE FOR ROUGH WORK
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98. WERITHA] T&YNa feai] erafacer yayr
;n{ N
S ey SR T
J b
(J =
j RSN
Y i %5

(4)

Dotted area in the map of Maharashtra shows

\7}:/‘[2 1
AR
S

g

LR

EESRIESICISICIR HRCE T
S QIETEl quiR qiesar gear fagm
HeH A S UISHTE FHledl god Yew
IS IBTAS Fedl ool I

Ty TR T

1)
2)
3)

)

(
(
(
(4

Region of heavy rains and laterite soils

Region of heavy rains and brown red soils

Region of moderate to heavy rains and black soils

Rainshadow region black soils

THoeAT THTATETEl F / SPACE FOR ROUGH WORK
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99. il oI
LS |l
foemrTuT HIET HRET
(a) HYFTTR (1) FEd HLAT
(b) TEsmErEl (i) TS =LA
(c) faamMITR (iii)  Torem Ll
(d) AT (iv) T THRH HL3.

(@) (b) (o) (d)
O @ @ Gv) (@
() Gv) (@) @) @)
¢) @) Gv) @ )
4 @) Gv) GiD) @

Match the following :

—

Column I Column 1I
Places Sugar Industry
(a) Madhukarnagar (i)  Yashwant Co-op.
(b) Hinjwadi (i) Rajgad Co-op.
(¢) Chintamaninagar (i) Bhima Co-op.
(d) Anantnagar (iv) Sant Tukaram Co-op.

(@ () (9 (@
®H O @ @) ()
) (v) () @) @)
3) (i) (v) @) (i)
) @ Gv) @) @)

100. 2001 =7 SFIYHTER WETEA Halids g Sdd] St & WISieTeh! Hive fsegrm &l ?
() TR 2 (3) HER 4) TRE

In 2001 which of the following districts in Maharashtra had the highest scheduled caste
population ?

(1) Nagpur (2) Pune (3) Solapur (4) Nanded

HTEIT ShHTATHTS! ST / SPACE FOR ROUGH WORK
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o : famdt @ d g gaiae w101 9 110)
Direction : Fill in the blank with the appropriate option (101 to 110) :
101. wrfedran sfaeR stfafaem 2005 @ Teddi=! dei Hevard arig
(1) 6.12.2005 (2)  12.10.2005 (3) 15.6.2005 (4)  1.4.2005

The Right to Information Act, 2005 received assent of the President on ___ o
(1) 6.12.2005 (2) 12.10.2005 (3) 15.6.2005 (4) 1.4.2005
102. #ifgdi=n aifuemr syfaf@my 2005 g1 frfga wwamE e 3R,

(1) wfedtar TR 9egdd 2004

(2) Wifedrs T sAfafem 2002

(3) 3 3fea AfRREe faskeyq w1923

(4) Wit g 999 erfafm

The Right to Information Act 2005 repeals _
{1) The Right to Information Ordinance 2004

(2)  The Freedom of Information Act, 2002
(3) The Indian Official Secrets Act, 1923
(4) The Information and Technology Act.

103. wfeal arfyeri Tt 2005 oo el AT & Wied! g
(1) YIS 9 2rEdr
(2) URTI=A TTHR [AHgoE I S5
(3) AR 93 THA
(4) TauYE, SETdde fatd gemar @ dawemi R Sow dfae w3 sTee diHdten
Under Right to Information Act, 2005, the Chief Information Commissioner of Central
Information Commission

(1)  shall be eligible for reappointment
(2
3
(4

) shall be eligible for reappointment if the President of India desires
) shall not be eligible for reappointment
)

shall be eligible for reappointment only if recommended by a committee of Prime
Minister, Leader of Opposition and Minister Nominated by Prime Minister

THeedT SHTUTETS! W / SPACE FOR ROUGH WORK
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104. FIU fAEH ToF G HIfEd! STYFN UeHEET higd 20l drdd ©n] & Al ?

(1) SR AESAH A6R a1 3He

(2) AfTH AT TS T AUHEES AHT SATAT ST THS.

(3) SR UEEHHEl HIVATE! SaqT ISR FI THS,

(4) R = fovg TRl fshan T FRRHeR=Al RIVARE! T qU Soal AHE.

Which of the following statements is not correct regarding removal of the State Chief
Information Commissioner ?

(1) If adjudged as insolvent.
(2) If convicted of an offence involving moral turpitude.
(3) If engaged during his term of office in any paid employment.

(4) If impeachment proccedings have been completed against him by either House of
State Legislative.

105. wifgdren SfyR Afafad 2005 = g w6 wifsdl (HeswarEn AiveR dEe.
(1) e (2) TR
(3) AR (4) ®F (1) 3 Q)
Subject to provisions of Right to Information Act, 2005, all ___have the Right to
Information.
(1) Residents (2) Citizens
(3) Persons (4)  Only options (1) and (3)

106. ifgdt AfurR Tfufem 2005 =01 o0 18 ITFGY (3) TR FHIVTE THIOT e Flddcs]
HErd wifed! AgETE fhar Fenfrdt w1 miEd sy AT AT A AT
fHfgd sra d we stfaer yra e
(1) feamf =mres (2) & =
(3) IUH T AEESHERT (4) =ISU! RV ATE
As per section 18 (3) of the Riglii to Information Act, 2005 the Central Information

Commissioner or the State Information Commissioner, as the case may be, shall while
inquiring into any matter have the same powers as are vested ina __

(1) Civil court (2)  Sessions court

(3) Judicial Magistrate first class (4)  None of the above

HoAT HIHTETS! AT / SPACE FOR ROUGH WORK
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107. 5a Aifgdl STENT= A&d el Ma] Teudl ot uiad ges=n B
TTERIMTER .
(1) 99 T ka9 Tagae faist gamq
(2) TANHM STV Brehge foRet garal
(3) dauu™, SEayeEr faUH vead, FEia Feie g, YaueE T woar g3
(4) ST HIONE e
The Chief Commissioner of the Central Information Commission is appointed by the
President on the recommendations of a committee consisting of
(1)  The Prime Minister and Leader of Opposition of Loksabha and Ra)yasabha
(2)  The Prime Minister and Leader of Opposition of Loksabha
(3}  The Prime Minister, Leader of Opposition in Loksabha and a Union Cabinet Minister
nominated by the Prime Minister
(4) None of the above
108. TS <qreA] Hifgd! HAfuhR HrEer= e e,
(1) Tren af® 99 3fw, 1866
(2) 3T T TTHIATA IR, 1866
(3) THed AAfE TegH= STHITHYA @, 1966
(4) s T THARE 3fve fiRen offh 99 e, 1866
The name of Right to Information Act of Sweden is
(1)  Freedom of Press Act, 1866
(2) Right to Information Act, 1866
(3) The freedom of Government Information Law, 1966
(4) The Right to Information and Freedom of Press Act, 1866
109. et tfereR aafufem 2005 = Fod 8 TAR e Hifed! i S IS hed™ YA FEHHE 9

FAGEIS YT R R A Hifgedt IS FIOAIRE FL 0 ASS ST,

T A _ TR,
(1) R 2 =I=*
(3) AT@: SR A AvE: I (4)  HITAT IO TE

As per section 8 of the Right to Information Act, 2005, the information, disclosure of
which is likely to prejudicially affect the sovereignty and integrity of India, is exempted
from disclosure.

This statement is
(1) correct (2) wrong
(3) partly correct and partly wrong (4) can't say

HEAT HTHETS! AT / SPACE FOR ROUGH WORK

P.T.O.



GO2 36 A

110. et stfusr stfafwam, 2005 =41 FoH 2 I9HH (j/F) TIR Hifedr=n AfTFRmEE
1 At FHE Bl

(1) MW, SEEs, sfeem e H
(2) sfrETe wdl W= H

(3) g™ YT T 0

(4) =l wd

As per section 2 (j) of the Right to Information Act, 2005 the right to information includes
the right to _

(1) Inspection of work, documents, records
2)
(3) Taking certified samples
(4)  All the above

Taking copies of documents

111. o 3fear T8 g SHEd (aeH) Ufes ETE FIS Wi g ?

(1) ¥ (2) AT (3) T (4) e
Where was the First Conference of All India Trade Union Congress held ?
(1)  Mumbai (2) Nagpur (3) Pune (4) Nashik

112. YR T gifas afwefamd Wty S0 faum st et ?
(1) =LA TA AT 1887 He A1 IREe=T S Fa.
(2) wmfSeR IRESET &g HYol Send s garentawt aomTRRe ST FI0 8 E.
(3) fa= ufee stfeeem qas 39 wio.

(4) 1895 THd = URweH fevE, g aut uwE fowmh o wwrm deud, yrdE U
G 974 .

About the Indian National Social Conference, which one of the following statements is
not correct ?

(1)  Justice M.G. Ranade founded the Social Conference in 1887.

(2)  The aim of the Social Conference was to work for social reforms effectively all over
the country.

(3)  Its first session was held at Mumbai.

(4) Till 1895, the sessions of this conference were held every year at the same venue and
in the same pendal, along with the session of the Indian National Congress.

THoeAl HIATETS! AT / SPACE FOR ROUGH WORK
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113. fg sifimweafiey REw siw (1879) AHfle Agam=ar axgel a1 el

(a) Naw=ATE SHE WETE A ey
by ‘fofze NEsR wie’ 9t F© yamom ey
(c) @S (W) HEUAE HAd WAS THST qEd 2ehdl TR AR

Tt o faum/ faum st ommea ?
1) (a) % (2)  (a) ST (b) FeH
(3) () (b) 5 (o) (4)  (a) W () w

The main provisions of the Agriculturists Relief Act (1879) was :

(a) Restriction on alienation of Peasant’s land

(b)  Some restrictions on the operation of the civil procedure code and

(c)  The rayat could not be arrested and sent to jail for failure in paying debts.
Which of the statements given above is/are correct ?

(1) (a) only (2) (a) and (b) only
(3) (@), (b) and (c) (4) (a) and (c) only
114. a9 Sie o
RIS | - 11
(a)  TIITGESTST TBTHT () fespa feaemiiol |qw
(b)  TSIH B HEWS (i) wEEEluE Ui wa
(©) B araHRe TEeH (i) SQrE THL
(d) foET a1 (iv) o €Y IRERE Hedl
(@) (b) () (d)
1) @) @) @ ()
(2) (v) () @ @)
3 @ @ @) @)
@ v O @) @
Match the following :
List - 1 List - II
(a) Gopalbaba Valangkar (i)  Bahishkrit Hitakarni Sabha
(b) Rajashri Shahu Maharaj (i) Sanmanbodhak Nirashrit Samaj
(¢) Dr. Babasaheb Ambedkar (iii) The Vedokta Episode
(d) Kisan Bansode (iv) Anarya Dosh Pariharak Mandali
a) (b) (o) (d)
(L @ @y 0 )
(2) Gv) @) @ ()
3 ) @O @) @)
4 v) O @) ()

HoeAT SR 9T / SPACE FOR ROUGH WORK

P.T.O.



GO2

115.

38 A

GISGYeh! BV Uk SISl 9 T8 7

(1) vRdr TR 991 - 1885
(2) fég mera - 1911
() T=M @M - 1906
(4) TEdd AEEL Y - 1936

Which one of the following pairs is incorrectly matched ?
(1) Indian National Congress - 1885

(2) Hindu Mahasabha - 1911
(3) Muslim League - 1906
(4) Independent Labour Party - 1936
116. 1925 wedl gzl faepvaren wigl faeg <A1 AARAH! FATE Hel.
(1) S (2) R (3) HrEETR (4) farm
The farmersof __ staged a protest (satyagraha) in 1925 against the Monopoly of
Hirda Sale.
(1) Satara (2) Bhor (3) Kolhapur (4)  Chirner

117. HI5 TR HY1 HIUTS STAAEG T A 2

(1) THIT S (2) THTE AiCH
(3) YFETT IR (4) THEWE T
Under whose presidency the samyukta Maharashtra sabha was founded ?
(1) Ramrao Deshmukh (2) Ramrao Adik
(3)  Mukundrao Jaykar (4) Shankarrao Dev
118. &3 wACHEEM, 1937 A I @it W Foar fatas Aiss.
(1) . e eve (2) Tefrar e
(3) Ta= WEeRER (4) Bl @LAR. AEH
In1937 _ placed the Biil regarding cancellation of Khoti in the Mumbai Judiciary
Council.
(1)  Dr. Panjabrao Deshmukh (2) Vinoba Bhave
(3) V.D. Savarkar (4) Dr. B.R. Ambedkar

THeHT RTHTETS] AT / SPACE FOR ROUGH WORK
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119. WSSUH] HIU Sl T B! % ?

GO2

(1)  Truiga weast g (feute somd fum)  -faw file

(2) W EH - Tl TATE et

(3) AHAEH F - TS e

(4) HGHE SEEH - DT BHIS

Which one of the following pairs is correctly matched ?

(1)  The Depressed Classes Mission - V.R. Shinde

(2) Prarthana Samaj - Swami Dayanand Saraswati

(3) Manav Dharma Sabha - Bhau Mahajan

(4) Shradhanand Chhatralay - Lala Hansraj

120. foriaT W F1= S=PTE Fivrd ?

(1) F (2) ararE (3) TR (4) TTEd

Which is the birth place of Vinoba Bhave ?

(1) Vakrul (2) Vavoshi (3) Gagode (4) Gadab

121. ST @l

(a) HHAR T TS (i)  rieEd

(b) . ysTeRE @ (i) eI WA

(c) @eT 3 (iti) Torarsit foreqor dee

(d) Tegl. HrawHt (iv) o foeqor geen
(@ (b) (o) (d)

1 @y Gv) @ G)

) ) @) @ @)

3) (v) () @) (D)

(4) Gv) (@) ) (i)

Match the following :

(a) Karmaveera Bhaurao Patil (i) Anandvan

(b)  Dr. Panjabrao Deshmukh (i) Abhinav Bharat

(c) Baba Amte (i) Shivaji Education Society

(d) V.D. Savarkar (iv) Rayat Education Society
(@ (b) (o) (d)

L G (v 6 G

@ O @ ) @

G) v G @ @)

@ @ 6 @ @
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(a) M. SAFTHRT (i) HERTE HE
(b) = FLAR. AESHL (ii) ey
(c) FURME WSHL (i) HAAR
(d) = dSETE e (iv) G

(@ (b) () (d)
1) (v) @) @@ @
2 @ @ @ @)
@) @) @@ (v) (i)
@ vy @ @ ()
Match the following :
(a) G.G. Agarkar (if ~ Maharashtra Kesari
(b) Dr. B.R.Ambedkar i)  Dinbandhu
(c})  Krishnarao Bhalekar (iii) Mukanayaka
(d) Dr. Panjabrao Deshmukh (iv) Sudharak

(@ (b) (9 (d)
@ Gv) @) @ 0

(2 @O @) (@ ({v)
@) @ @ (v) ()
(4) @Gv) () (@) (i)
123. SITRHTING HHIA FHR g9 Ul & HA TS W Heqe sH1 HII hivl geaid Heol
Il 2
(1) Uit T (2)  TTERT S
(3) s e (4) IS A

Who established a parallel government in the hills and began collvcting revenue from the
villages of Pune and Satara ?

(1)  Umaji Naik (2) Raghoji Bhangre
(3) Puttoji Naik (4) Bhagoji Naik
124. Tafew o 9 TRHT UG aT9E O,
(1) TR (2) T (3) wETEE (4) EH
The British introduced __revenue system in the Deccan.
(1) Zamindari (2) Rayatwari (3) Mahalwari (4) Talukdari

FeedT ShTHTETE! AT / SPACE FOR ROUGH WORK
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125. T HEIR HeeT d@dsd i g,
(1) 7.9 3@ (2)  HETAT Tl
(3) A ViR 9B (4) =EE TR
is the Father of Labour Union Movement.
(1)  N.M. Lokhande (2) Mahatma Gandhi
(3) Nana Shankarsheth (4) Dadabhai Naoroji

126. TSGR wivien feavh 7. TSy di=l diqum gad= eregeel fae el ?
(1) 29 AT 1946 2) 9 fedat 1946
(3) 11 fedaw 1946 (4) 17 AR 1946

On which of the following days Dr. Rajendra Prasad was elected as the President of the
Constituent Assembly ?

(1) 29" Aug. 1946 (2) 9™ Dec. 1946
(3) 11t Dec. 1946 (4) 17th Oct. 1946

127. @ faurrEn faem &3 :

(a) Hfare g1 HiaHEsEn 9 AR,

(b) Hfere 7= 15 d 20 SIS HWIHE SIEAM, A= &1 hide A== STHl.
(c) €N vl § Hfeded FM AR,

(d) Hfee € Hfaer s 99 o

T ee foumren ga=h f1as %1

(1) IS (b) TR MR 2)  (a) 20 (b) SRR 1
(3)  (a), (b) T () SIS Ted (4) T TSR e

Consider the following statements :

(a) Cabinet is a part of the Council of Ministers.

(b) Cabinet consists of top 15 - 20 members who are designated as Cabinet Ministers
(c) Policy making is the function of the Cabinet.

(d) Cabinet is an extra - constitutional term.

Choose the combination of correct statements :

(1) (b) alone is correct. (2) (a) and (b) are correct.

(3) (a), (b) and (c) are correct. (4) All are correct.

THoeT HIGTETS! AT / SPACE FOR ROUGH WORK
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128.

42 A

T AT FAHOTH A WA F e T T ?

(1) T FE FemEE - FEEe I auiEiet FivEd srEdr

(2) TSFUSH! Wl - Td: TeTTerE Tel vy ueret Tedl 99

(3) guaTn favenw or@ wda - S faum wua stfovarErEn 3ue WA 81 el aredd
(4) 9§ A 9 STEq - TER JRIEE TSYR s A dradd st faum gd4w

Which one of the following pairs is not correctly matched about the tenure of a Chief
Minister ?
(1) Since appointment by the Governor

(2) Pleasure of a Governor - In theory can hold office during the
pleasure of the Governor.

Tenure is fixed for five years.

(3)  Till he enjoys the confidence of majority Till passing of the vote of no-
confidence by the Legislative

Assembly.
(4) Until he holds the party leadership

Until removed from party leadership
and till getting the support of the
majority group in Legislative
Assembly.

129.

RS FAUHATS hI0ed] FOATTIR T2 IoaTde IIuerd aaerr dAfar fao o ?

(1) 163 (2) 153 (3) 161 (4) 158

Which article of the Indian Constitution gives right to grant pardons to the State
Governor ?

1) 163 2) 153 3) 161 (4) 158

130.

(1) w9/ - 101 (2) -1V (3) Wm-V (4) 9 - VI

Which part of the Indian Constitution contains the Directive Principles of the State
Policy ?

(1) Part-1IiI (2) Part-IV 3y Part-V (4) Part- VI
131. 3T TEAISATHR, WRA & ERHES

(1) Ho=H (2)  TSEE "

(3) o1 HEUSATHE (4) THH T

As per our Constitution, India is a )

(1) Federal state (2)  Union of states

(3) Quasi-Federal state (4) Unitary state

el RTHTETST S / SPACE FOR ROUGH WORK



A 43 GO2

132, HEAAH 9 YR Ml SR @ SA%K! fqumuga qe ade | fadl serda fa faumdes
T T FYTRNF 378 ?
(1) U e (2) (3) e HfE (4) = afEd

Within which period is it mandatory for the Chief Minister to become a member of the
state legislature if he/she is not one at the time of assuming office ?

(1) One month (2)  One year (3) Six months (4) Three months

133. GO faurEn o= 3
(@) TIHLId T HaAdl TR 42 T HITAT TERH HUATd 3N,
(b) YT Fded TE .
() O FHdeAE WA ITESAIS AAM IV-A 9E) Hhel 1%, d T fawm o,
(d) TOYd FdA Fo 51-A A TS 3R

R e faur fae «0 :
(1) %98 (a) T A8 2)  (a) 3N (b) SR e
(3)  (a), (b) = (¢) TR 3T (4) ¥4 SR AR

Consider the following statements :

(a) Fundamental Duties were included in the constitution by the 42" Amendment.
(b) Fundamental Duties are Ten in number.

(c) Fundamental Duties are enumerated in part IV-A, which is a new part.

(d) Fundamental Duties are mentioned in Article 51-A.

Choose the correct statements :

(1) (a) alone is correct. (2) (a) and (b) are correct.

(3) (a), (b) and (c) are correct. (4) Al are correct.

134. GISIBURT HivEt STE! sa et 2
(1) HeauH - T5IUTS

(2) TS - YA

(3) faeus g - JagH™

(4) HagHH - AT

Which one of the following pairs is not correctly matched ?
(1)  Chief Minister - Governor

(2) Governor - President

(3) Election Commissioner - Prime Minister

(4) Prime Minister - President
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135. WIO@USH! HIO TR T8 Sy T8 ?
(1) Teg[d wa"
(2) OfRge e
(3) TSl TSHEEAl
(4) SYE: AIBTH FYA: wATHH T
Which of the following is not a feature of the Indian Constitution ?
(1)  Written Constitution
(2) Rigid Constitution
(3) Large Constitution
(4) Partially Rigid and Partially Flexible Constitution
136. ToauToTeAl - faaei sfusrisa Heuid Geots! S fagm TRer] o) ?
(1) R Tsafays |91 ' 90 T8’ A8e W eFusarE! as Hl.
(2) we@Erl fEer yare TeMe FaReud Sioel faum 9idie dgAd THEdl dl AAHeos
qEYE L.
(3) HOH 356 TAR TSI SN0 BT HI0ATHT Hew Q.
(4) =9 fadgs qAfaERETE! wafa.
Which one of the following statements is inapplicable in the context of Discretionary Powers
of the Governor ?
(1) Canselect the Chief Minister in case the state Legislative Assembly is a "Hung-House’.
(2) Can dismiss the ministry when party in power loses majority in the Legislative
Assembly due to a revolt or a split in the party.
(3) Can advise the President for promulgation of Emergency under article - 356.
(4) Can return the money bill for reconsideration.
137. HEFR HERIRH =TAHEH WM, € WA SR ARee® qcd YRATE JeT= =41 Hivred]

FOH TR HOS 3R ?
(1) FoH 44 (2) | 40 (3) e 50 (4) O 36

Which Article of the Indian Constitution stipulates the principle of the separation of
Judiciary from the Executive ?

(1) Article 44 (2)  Article 40 (3)  Article 50 (4) Article 36

oAl RIHTETS! ST / SPACE FOR ROUGH WORK
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WRATT TAESAAS HSH 44 3 el Hafuq e ?

(1) 9=rad st |qeen

(2) oS! wHE

() sreTHEEIR=AT feara 10T

(4) ANRRHE! HAM AR S
With what is Article 44 of the Indian Constitution related ?

(1) Organisation of Village Panchayat

2)  Abolition of Titles

(
(3) Protection of Interest of Minorities
(

4)  Uniform Civil code for the citizens

139. YRIGUH! R SIS TeR Sead ?

(1) eAfeEsaT= 2o - %@ 29 § 30
2) wiwpfas a fefors g5 - FOH 19 d 22
(3) it TErdATE Fah - HSH 25 d 28

(4) HSATHE IUTF AN gFh - ol 23 d 24

Which one of the following pairs is correctly matched ?
(1) Right to Freedom - Article 29 to 30
(2) Cultural and Educational Rights - Articles 19 to 22
(3) Right to Freedom of Religion - Articles 25 to 28
(4) Right to Constitutional Remedies - Articles 23 to 24

140.

YA TSTeea Yeod: WA Houd ATUHR 8. Wig el TR

(1) dm (2) =R (3) = 4) F&

There were seven Fundamental Rights originally in the Indian Constitution but now there
are :

(1) Three (2) Four (3) Five (4) Six

oAl SHTHTATS W / SPACE FOR ROUGH WORK
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141, I S oo
CIPE] EL]
(a) S fHel gamon G 1919
(b) W ITHHIE GHR (i) 1947
(¢) HRAr YRMEA g (i) 1909
(d) |G TG HET (iv) 1935
(@ () (9 (d)

O 0 @ @) G
@ @) @) @
G) @) O v @)
@ @ 6 v G
Match the following :
Act Year
(@) Morley Minto Reforms i 1919
(b) Montague Chemsford Reforms (i) 1947
(c) Government of Indian Act (iii) 1909
(d) The Indian Independence Act  (iv) 1935
(@ (b) (9 (d)
O O @ Gv) ()
(2) (@) (v) (D) @
() @) @ (v) @)
(4 @ @@ (v) (i)

142. T3 faumrays sAfucem auiqd fhd! deo SromEy revas T ¢

(1) =R FA@ (2) U= E@l (3) T da@ (4) o &
The session of the State Assembly is to be summoned at least times in a year.
(1) Four Times (2) Five Times (3) Two Times (4) Three Times

143, AT ST HIVTT AT THE T SIEEET OGS T 2

(1) o & (2) HYd ®Hdsd

(3) HTfeE qe (4) ufee gRfeme

Which part of Indian Constitution provides for Common Civil Code ?
(1) Fundamental Right (2)  Fundamental Duties

(3)  Directive Principles (4)  First Schedule

TheeAT hIATETS! S / SPACE FOR ROUGH WORK
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144, 9IS =ATATEAT=] SaTd AT aTd = Wi faumra faar 1

(a) —ATEEE HEHINO Aty faefingemmys fava emd.

(b) AT TRl AT U] .

(c) UeFERAR <ty iar fafere enfor = amrar fauifa Sot .

(d) = FEFHS S YT A IA oaq G .

&R fgemren g fae &4 ¢
(1) 9D (a) TR L. (2)  (a) S (b) SE TR,
() (a), (b) 3T (¢) SRS TR (4) |d I A1RA.

Consider the following statements about the independence of Judiciary in India :
(a) Separated from the Executive and Legislature.

(b) Judges are appointed by the President of India.

(c)  Constitution has prescribed specific and high qualifications for judges.

(d)  Their tenure is long and are paid high salaries.

Choose the right combination of correct statements :

(1) (a) alone is correct. (2) (a) and (b) are correct.

(3) (a), (b) and (c) are correct. (4)  All are correct.

145. TR Gafad sTHoe Groiats! sEmg gaig freer
(1) TS § [T UiEe AT 2.
(2) TS SO famEY sTHayAE §Ean g
(@) TS wH TREE WE e

(4) TSIYS TSI hEAFHR TE THAm.

Select incorrect statement of the following, related to the Governor :
(1) The Governor is the first citizen of the state.

(2)  Vidhan Sabha Session begins with the address by the Governor.
(3) The Governor is the head of the Council of Ministers.
(

4)  The Governor is the executive head of the state.
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146. IV TATd U4 faeHEas 576l 99T8 A8 ?

(1) mEm (2) foeR (3) HAEH (4) e
Which state does not have two houses of legislature ?
(1) Assam (2)  Bihar (3) Karnataka (4)  Maharashtra

147. 9HfUy fHan gida Io0 & HReqT1 SV HeAgEsTaR dHeTd 0@ e 7

(1) 1976 = 42 &t =eAge! (2) 1977 =t 43 =t BeAIGES]
(3) 1978 = 44 ST HEAGE! (4) 1980 =t 45 &l EEAGEET

The concept of secular state was implemented according to an amendment in the
Constitution, by which of the following ?

(1) 4274 Amendment of 1976 (2) 43¢ Amendment of 1977

(3) 44" Amendment of 1978 (4) 45t Amendment of 1980
148. IFA el TE

et - 1 Rl - 11

(a) wHelHEEHI () HNHF § FERR G

(b) HEEHA (it) TS Halfere guTel et

() TS (i) HAMEET FAMMS TeaTd] 0T

(@ HfvEz (iv) IR HeemR

(@) (b) () (d)
L @ @) @ G
2 O @ G ()
@) G @) @) (i)
4 @) @ v @)
Match the following :

List~ I List - II

(a) Advocate-General (
(b)  The Chief Minister (i)  The most powerful institution in the state
(c) The Governor (i) Key-stone of the Cabinet arch
(d) Council of Ministers (

@@ () (o (@

i)  Constitutional and Executive Head

iv) Legal Advisor

1 @v) @) @ @
2 @ ) @) (iv)
@) @) Gv) (@) (i)
4 @) @O v (@)

ool HIHTETS! ST / SPACE FOR ROUGH WORK
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149. W& faum fo=r 4. (A @0 R)
faeam (A) : faull favas daumered $5 TRa WM T IoAen 95 R,
THIOT (R) : | Feid foher U7 a7 Wiiaoed Hivers! sredstt sl seoar ol
GT® TR qHeAT SO frae &
(1) (A) iU (R) 276! 94 247ed, WY (R) § (A) 2 Se R AL
(2)  (A) 31 (R) 38 W TG (R) ® (A) 3 SRR RO L.
(3) (A) @R #AR, WY (R) ¥4 k.
4) (A) T AR, WY (R) Qe IR,
Consider the following statements (A) and (R)

Assertion (A) : Regarding the legislative matters position of the Central Government is
superior to that of states.

Reason (R} : The Parliament has exclusive powers to make a law with respect to any
matter not enumerated in the Concurrent List or State List.

Select your answer from the following alternatives :

1) Both (A) and (R) are true, but (R) is not the correct explanation for (A).
2)  Both (A) and (R) are true and (R) is the correct explanation for (A).

3)  (A)is false, but (R) is true.

(
(
(
(4) (A)is true, but (R) is false.

150, TEIERdS SUufEhd (Eraqd) 'Sk, (ToRe,  aefae’, e, gmERl | 9 | e
@B, o IVl hHAH H@asdid 7
(1) FHSERT, SEHH, T, SReE], He
(2) HEsW, FESETE, gHAYE, SR, TR
(3) IREY, Sl vHAe, welw, FEeEe
(4) WM, FHfEde, FETSETE], SlwTEl, TR

Terms ‘Democratic’, ‘Republic’, ‘Secular’, ‘Sovereign’, ‘Socialist” appear in the Preamble
to the Constitution. In what sequence do they appear ?

(1) Socialist, Sovereign, Republic, Democratic, Secular
(2) Sovereign, Socialist, Secular, Democratic, Republic
(3) Republic, Democratic, Secular, Sovereign, Socialist
(4) Sovereign, Secular, Socialist, Democratic, Republic
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151. oY YONGE @Wd Heeh Ul 1S 7
(1) wufe (2) wre (3) faere (4) W

~

What is the basic unit of a Bluetooth system called ?
(1) Frame relay (2) Petrinet (3) Piconet (4) Tarknet

152. WEIGUH! FIVH Tgd STAHSF G & ool TTOavATR Al e 3 gefeqd e ?
(1) Tar deseam=! e /A= (2) Clearen gieueer e /Hi-adl
(3) W= THfEE (4) T qeevHe RRE ST /HI

Which of the following is the latest and secure way to implement biometric security and
identification with the help of computers ?

(1) Palm Recognition (2) Retina Recognition

(3) Brain Mapping (4)  Veins Recognition of Palm

153. 3Ywiiaan faiv Eide oreht Al wafavm € fe Hiowdn =1 T A 2 ?

(1) @R 503 IPC (2) wSH 420 IPC
(3) “heH 499 IPC (4) @A 500 IPC
The offence of sending threatening email is a crime under :
(1) Section 503 IPC (2)  Section 420 IPC
(3) Section 499 IPC (4)  Section 500 IPC

154. TCP/IP =1 9Res WAL T Telhiois! Uk 38 TRl a0 (TRETH #F2i0) T,
T GE HIvw ?
(1) IR STUW HErhie (2) 3R WS
(3) BRI TR WhIS (4) CSMA/CD URI&H®

Out of the two protocols in the transport layer of TCP/IP reference model, one is
Transmission Control Protocol. Which is the other ?

(1) User Datagram Protocol (2) Internet Protocol
(3) Hypertext Transfer Protocol (4) CSMA/CD Protocol

HEAT HIUTEIST AT / SPACE FOR ROUGH WORK
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"Trel fEsfon’ H3 Yl HiEeT ATHE T 2
(1) oa ARAmE 950 (2) TR @S
(3) HIUH H gl (4) HUUE GE THA 9g TSI,
What type of cyber attack is Data Diddling ?
(1)  Alteration of the raw data (2) Data corrupted
(3) Computer switch off (4) Computer reset
VAT B I T A F2XHea UG 37 ?

(1) = (2) HEHER (3) it (4) FwYT
Which one is a famous discussion group available on internet ?
(1) Netscape (2)  Microsoft (3) Mozilla (4) Yahoo Group

157.

T T SIS SN WER TR W, 91 o iR TRd i 91w yeiqee Sedm,
e A F GAFI FAA. 7 T FEAHR Wifed! SRl UkRare, Sewnd yv 9
YT Jeoeiul § UHAHRO A, 3§ THAHT 3 geaqgard onfor fimifos geerstom
THRIEN SO FH T HT.

(1) GPS (2) A=A (ufEE)

(3) fme g (4) GIS

is a computer based tool for mapping and analysing things that exist and
events that happen on earth. This tool integrates common database operations, such as

query and statistical analysis with the unique visualization and geographic analysis benefits
offered by maps.

(1) GPS (2) Navigation
(3) Remote sensing 4) GIS

158.

S TREUESYl (HAR) A e Y@ Soaeie SYRUIAT Icehil fahdd FO% e, d
IR . B T, IUH AIhdl AT S I, § Ted TR 9edd Sod |

wwﬁwﬁﬁtﬁaﬁwwﬁ% 39 WUk T CU-{hieTd & Fdl Sl et g

FUAIEAT S HIGAA o TETET Eaf1 HaE1 FTivl e Ar= Affedl <Eie Hrae!.

(1) MIDI (2) MP3 (3) MPEG 4) AVl

A communication standard developed by major electronic instruments manufacturers is

__ . This standard memorises anything the user plays, and plays it back on

command. Here a computer acts as a tape recorder which stores sound as air vibrations
and also stores information as to how to create a certain sound.

(1) MIDI 2) MP3 (3) MPEG (4)  AVI
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159. RTGS © &Y FHvQ 3R ?

(1}  Real Time Gross Settlement (2)  Real Time GO system
(3) Real Time GCO system (4) ISt T & R
What does RTGS stand for ?

(1)  Real Time Gross Settlement (2)  Real Time GO system
(3) Real Time GCO system (4) None of the above

160. Tcis THALT, Yo Werkio 9, Ta fafire fediusd sraq. & feordt = gl detfia giad
TeHE Td Jod THT WHH FHTehed AIRH 700! FTd. & Hed 374 TEIHE aTRos .
T Geheqol FTI TEUE 2
(1) fRfgse sinfedm (favem) (2) forfia fegdht 99 (wrEATEe Ve wei)
(3) M feordl G/ 9 (TR We HHE)  (4) YRS R 39 (TIEhTE W HI)

Each protocol machine is always in a specific state at every instant. Its state consists of all
the values of its variables, including the program counter. What is this concept used in
many protocol models known as ?

(1) Reachability analysis (2)  Finite state machine

(3) Task state segment (4) Protocol state machine

161. '@iSiten s’ g1 G0reh foreTu] a7 YA o778 ?

(1) = (2) e

(3) o (4) =

Logic bombs in computer viruses form which type of programme ?
(1) Independent programme (2) Dependent programme
(3) Small function (4) Good programme

162. DVD & FYTd ISV 3R ?

1) g femdn 2) Swe fewh

(@) @ fem (4) didE Ve =R femr™
What is DVD an example of ?

(1) Output device (2)  Optical disc

(3) Hard disk (4) Solid state storage device

HoAT HIATETS A / SPACE FOR ROUGH WORK
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163. HTETd! g vaTal ST w1 Hed Hieawd ?
(1) & S TH (2) uHSUg (3) = dtum (4) drdrum
In which form is the data transfer rate measured ?
(1) kes (2)  mgs (3)  bps (4)  pps
164. TH YS! fohal Tk WiTeaa JIA SARR S0 GUeaH=1 oAl STATHE=T SR
IW 43 UHAl, Tel® STANTHA Ha¥l B o Hide wiehal A0 ghaswed arefades mfedt st
TIehdl, 3T FUE TR
(1) EPABX (2) THCTL
(3) N are A (4) FUUEE FIAECH
A system or a software program which permits the computer to answer telephone calls
from user’s computers, accepts and stores messages from outside users and allows access
to the information stored in its files is known as _ ~
(1) EPABX (2) Teletext
(3)  Bulletin Board System (4) Computer Conferencing
165. T IS Wed SUMEN HAM B 3 Tqed JTHR §e Yehed GHM HRIHHU hdwd, W & Tohed

e WIS TR Higd-

(1) ST e 2) wHAISG-TFHE TS

() Hehre-w= D (4) ¥l Wa e

A network in which all packets belonging to the same source and destination travel the
same path, but the packets may arrive at destination with different delays & resource
allocation is on demand, is known as

(1) Datagram network (2) Virtual - circuit network

(3)  Packet switched network (4) Circuit switched network
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166. Teh1 faqTo/fedd Soior o19e ST Tiel-faw! wwH Hvawe! aee afre s
e e
(a) IFd gvaHE/faEHa qIw by Tifqelle wwa i wesm
(c) WESUU /T YA = (d) i ol svear a9 Al F Srafea
(e) Y for Higsha e SR 01 (hy S A SO AR, @ EiE
o A Fitg FIIEE! Woisia! S G0E G S STaoedid ?

(1) fEdsw (2) Tk feAeRl (P UThie)

(3) ot () (4) eAATgR WEl-fosh! 9o (S-Arehdi)

An advertising company needs to incorporate following features for marketing their
product :

(a) Quick visual summary {(b) Dynamic, time-based medium

(c) Easily grab attention (d) Show what cannot be photographed

(e) Emphasize style and glamour (f)  Show what has not been built yet
What kind of computer technology the company should use ?

(1) Add - ware (2) Computer Graphics

(3) Animation (4) Tele - Marketing

167. ‘fars! fogw=er’ § RIUre YhRd SR 3718 ?

(1) YA FHRIR (2) wHETOIS

(3) wEEAM (4) UFE TR

What is Window Vista an example of ?

(1) Application software (2) Operating system
(3) Hardware (4) None of the above

168. TVHIAYA Hfgd! <@ & HalvT wyvarsA (auEad S/ RoErd ?
(1) 9w (2) YEm® (3) e (4) TEARGH
What are the rules for exchanging data between computers called ?

(1) Program (2) Protocol (3)  Procedure (4) Hyperlink

o] HTHATETE ST / SPACE FOR ROUGH WORK
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169. VOIP ® SV Y&Td AIgd A ?

. ~

(1) VOIP &eiet  (2) died= (3) VOIP ®F (4) ITRME
What a type VOIP is not ?

(1) VOIP Adopter (2) Broad Band (3) VOIP phone (4) Intranet

170. wond ' fefee fari=r weilimse ' Svga afyer S 24 =41 3{aid o0 ofRq ?

(1) R SR 2) Wl AU

() feore = (4) =)

Who has been granted a licence to issue a digital signature certificate under Section 24 ?
(1)  Copyright authority (2)  Certitying authority

(38) Tribunal court (4) None of the above

171. HUQ ThH YRS G0 Jed 18 ?

(1) T (2) U (3) @ (4) WHO
Which one is a type of computer network ?

(1) Ring (2) ROUND (3) 1P 4) WHO

172. &1 SE] & BE IV 9 GaH Jad @a: T JUR W (SIS e -feww yam)
Y AT GG I HTUTRT & 91T 371%d 2

(1) e "9 (2) FIHE WU
(3) A T (4) T HOTE

The magnetic bacteria which ingest the iron, create tiny magnets inside themselves similar
to those in PC board drives, are the main building blocks of

(1) Grid computer (2) Cloud computer

(3) Quantum computer (4) Bio-computer

o=l HIHTETS! ST / SPACE FOR ROUGH WORK
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173. ST websites fal TR Hie GRE TR IRAG TS HEAWS RV HOHES! 34 2,
(1) | 503 (2) HSH 420
(3) oW 500 (4) HE AR

Under which section of the IPC (Indian Penal Code) the offences like bogus websites,
cyber fraud are covered ?

(1) Section 503 IPC (2) Section 420 IPC
(3)  Section 500 IPC (4) None

174. STHAYLT S HETOET Ae GoornT=ar fafay wrmes A0 9/ 1d WRordid ?

(1) e (2) it

(3) T SrEr IR0 (4) Temga aifw wisa

What is flooding computer resources with more requests than its capacity called ?
(1) Hacking (2) Bombing

(3) Thefting (4) Denial of service

175. SJd-g € TR HIU TRAT S 7

(1) TweZwE (2) TR LIS

@) OFE) = (4) ToYE! HIOWE e
What does Shruti - Drishti application combine ?

(1) Text to speech (2) Text to Brail

(3) Both (1) and (2) (4) None of the above

176. WG §IRIET SATIAHh STRRATH Fegl TRRIFT 3T ?

(1) 10 fegaR 1948 2) 9 fedaR 1949

(3) 10 SIHaRT 1948 (4) 1 SHER 1950
When was the Universal Declaration of Human Rights adopted ?
(1) 10t December 1948 (2)  9th December 1949
(3) 10t January 1948 (4) 1% January 1950

el HIHMEIS! 9 / SPACE FOR ROUGH WORK
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177. HIEfaeh AT dleas TR&I0 IfHTTam 2005 =41 %o 8 THR T4 TR Y& fSegmaiar
o=t T e ?
(1) e Sfyait (2) wSE sfeEmr
(3) @rEa (@) USH

As per section 8 of the Protection of Women from Domestic Violence Act, 2005 whom
does the State Government appoint for each district ?

(1) Protection officer (2) Police officer

(3) Warden (4) Guardian

178. fmt SFm . _
HIgfoh [EHTaRr =ATE Sl Ty Afes w@Xer stfuftag 2005 =01 o
e FHA MR

1 3 (2) 5 ® 7 4 9
Fill in the blank appropriately.

Expression “Domestic Violence” has been defined in section of the Protection
of Women from Domestic Violence Act, 2005.
(1) 3 2y 5 @y 7 “4) 9

179. HEd I ATHEG S S STaERE Yfaay wae, 1989 & Tr-wad fan wiven
HSH G& TS FH AR ?
1) 4 2 3 @) 5 4 7

Under which section in the Scheduled Caste and Scheduled Tribes (Prevention of Atrocities)
Act, 1989 is a punishment for offences of atrocities given ?

1) 4 2 3 @ 5 4 7

180. TT HHE AUHR AT WU, AT FUHR FIAET, 1993 T HIVT HOHT 792 TSd FL0amd
S AT ?
1 2 2 3 (3 4 (4) 5

The National Human Rights Commission means the Commission constituted under which
section of the Human Rights Act, 1993 ?

1 2 2 3 3 4 4 5
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181. TCRIH! ST I 9amEn A 9.

T SR FRETU HTET, 1993 GR 378487 7V[A el roe! sas| far Fraleard 9 wilh e
599 AYa 99T ¥, S e AT THS q1 T T8 .

(1) 58 (2) 60 3) 70 4) 75
Fill in the blank with the appropriate option.

A person appointed as chairperson under the Protection of Human Rights Act, 1993 shall
hold office for a term of 5 years from the date on which he enters upon his office or until
he attains the age of _ years whichever is earlier.

(1) 58 (2) 60 (3) 70 4) 75

182. Higfaw fEamam-wga wiea™ Taw Afufrem 2005 =01 w4 12 (1) =01 AT Y <qAT
RS Rl Wfed swa anfis g a1 stfufraqrsar FIve FoqrEs! aard ?

1) 19 2) 20 3) 18 4) 21

As per section 12 (1) of the Protection of Women from Domestic Violence Act, 2005, the
Magistrate orders monetary relief under which section of the said Act ?

1) 19 (2) 20 (3) 18 @) 21

183. A AYRR HTIATAT HIVET FHSH THR T R STREFTE 8] A1 hoes Jaasd e
foreqy FvTEE! feamf ffan wNeR! Weedd Jraiar JUR 7 2

1) 14 ) 15 3) 16 4) 17

As per which section of the Protection of Human Rights Act, no statement made by a
person in course of giving evidence before the Commission shall be used against him in
any civil or criminal proceedings ?

1) 14 (2) 15 3) 16 4 17

HTAT HIHMETS AT / SPACE FOR ROUGH WORK
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184. TTshT=IT ST 9,
AR Bk WL R 1955 TR e Hoa! saem! Gaade! id il Heeseard aig SHutdehH!

WA AN S He d SHId HAE 599 200 9 Sl w16 9
91 < UE Fe.

(1) 23, 400 T4 (2) 179,500 ¥

(3) 139, 1000 ¥ (4) 299, 700 T

Fill in the blanks :

A person convicted under the Protection of Civil Rights Act, 1955 commits an offence for
second time and is convicted shall be punished with imprisonment for not less than six

months and not more than _ _and fine not less than rupees 200 and not more
than rupees

(1) 2 years, Rs. 400 (2) 1 year, Rs. 500

(3) 1 year, Rs. 1000 (4) 2 years, Rs. 700

185. g Ufdele w1ael 1961 313 WiSt® Ukl sniordt &1 ‘g1’ 8 et ?
(@) w-ffE U vamegd gEn vaE food el frawa.
(b) w-TfT wer v g v foodt vEnEl Hieda @l
() oM Jafee FR(IRT) SR o= v wrr-fafag foe @ storar et
(1) (@) = (b) (2) e (b) (3) WK (a) 4) HH ()
Which of the following is not included as ‘Dowry’ in the Dowry Prohibition Act, 1961 ?
(a) Any property given by one party to the other party in marriage.
b}  Any valuable security given by one party to another party in marriage.

(
(c) Dower or Mahr in case of person to whom muslim personal law (shariat) applies
(

1) (a) and (b) (2) (b) only (3) (a) only (4) (c) only

186. Tt < g woi=m A 9.

FISER Wil FoH _ _ 9R &S A 7 SrHed S 9 Sgiaa SHl (TerEn
Yfaee) e, 1989 TR SR ST S 1§ @] T8V L.
(1) 439 (2) 438 (3) 437 (4) 436

Fill in the blank with correct option.

The provisions of section Cr. P. Cregarding anticipatory bail are not applicable
in relation to any case involving the arrest of any person on an accusation of having
committed an offence Under Scheduled Castes and Scheduled Tribes (Prevention of
Atrocities) Act, 1989.

(1) 439 (2) 438 (3) 437 (4) 436
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187. AR &9k B0 #Afulrad, 1955 940 HHaR FI0 SoUER (1) 9fd® .89, (2)
qrifors f:Emedar @ (3) Ta¥ ATy A SO S9N TE g TR FOal A 7

(1) ed 2, 10 31 11 (2) w@H 3, 4 30T 7
(3) w1, 2 3f 4 (4) eH 5,9 & 12

Under which section of the Protection of Civil Rights Act, 1955, are the provisions of
punishment for (1) enforcing religious disabilities (2) enforcing social disabilities and
(3) other offences arising out of untouchability given ?

(1) Sec. 2,10 and 11 (2) Sec.3,4and?
(3) Sec.1,2and 4 (4) Sec.5 9 and 12

188. WG Bk TI&IUT FIAST, 1993 B Fegl U AT 3T ?

(1) 15 AT 1993 (2) 28 gWeR 1993

(3) 15 IR 1993 (4) 28 fedaw 1993

When did the Protection of Human Rights Act, 1993 come into force ?
(1) 15t August 1993 (2) 28th September 1993

(3) 15" October 1993 (4) 28t December 1993

189. WA SR T, 1, 1993 =T FIVET FEHT 3T TLT ARG TG HGA Thal
d 2
(1 3 2 4 3 5 (4) 6

According to which section of the Protection of Human Rights Act, 1993 can a member of
the National Commission be removed :

1 3 (2) 4 G 5 4) ¢

190. HIYEd A & STTYEd ST (AATER Gldey) T, 1989 =1 Hed 10 TaR fave ey,
1 FHIFTAT THO-[[ A TG AT HTY FL0ATE! Iaql HOSE A d ST A awdigd
St ST TRl et shiar AR Al 4d 2

(1) =Rad (2) TH T (3) QA (4) "=

As per section 10 of the Scheduled Castes and the Scheduled Tribes (Prevention of
Atrocities) Act, 1989, for how much period to the maximum can the special court remove
from the scheduled area any person likely to commit offence under chapter - Il ?

(1) four years (2) one year (3) two years (4) ftive years

oAl SHIHMETE AT / SPACE FOR ROUGH WORK
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191. WHOUH! FIedl AR T8 AT oh AN TEfid &{odrd el AT ?
(1) SIS e ) fag
(3) W 4) &

Which of the following states in India has constituted the State Human Rights
Commission ?

(1) Arunachal Pradesh (2) Tripura
(3) Meghalaya (4) Kerala

192. E IFTTY F1, 1961 =1 HoH 2-9691 ‘g1’ A1 Taran gedl 95A wnda < faum wiwad et
FE] DI FOH AE ASIAT 1S ?
(1) 513 -3 (2) 303-9 (3) 304-W (4) 302-®

Which section was inserted into the Indian Penal Code with reference to section 2 - Meaning
of '‘Dowry’ under the Dowry Prohibition Act, 1961 ?

(1) 513-A (2) 303-B (3) 304-B 4) 302-C

193. HiEfaw fEararmrg Afeor waqo stfufTam, 2005 97 TS ST TE H Ul FSHT T2
FS g ?
1y 27 (2) 28 (3) 29 4) 30

In the Protection of Women from Domestic Violence Act, 2005 the provision for appeal is
given in which section of the said act ?

1y 27 ) 28 3) 29 (4) 30

194. T s .
S UHR HI&0T T, 1993 a8 T 3gfad St 9 A7gfad S & § IRad
T wed g ffia udia syfed St 9 srgfEd S S g
(1) 336 (2) 338 (3) 335 (4) 337
Fill in the blank.

As per the Protection of Human Rights Act, 1993 the National Commission for the
Scheduled Castes and Scheduled Tribes means the National Commission for Scheduled
Castes and Scheduled Tribes referred to in article of the Constitution.

(1) 336 (2) 338 (3) 335 (4) 337
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195. e EoRRT=AT SIERAT=TT Ufeel SIS d Tae ATea1 AILHIqA HLodrd SA1e :

(1) Wt gRTal SIATfae STedr, 1948

(2) NI o TAHG TR AL HTEHE, 1966

(3) oM, WIS it Witghdis gaehidal AU HIAT, 1966
(4) SSUR! HIVQRT T

First International attempt for codification of Human Rights was made through the
(1) Universal declaration of Human Rights, 1948.

(2) International Covenant on Civil and Political Rights, 1966.

(3)

(4)

International Covenant on Economical, Social and Cultural Rights, 1966.

None of the above.

196. I gt Remmean SAT o,
FerIaaY HEET 1961, Y EET <0 ST WU, HUST TAT-SUATH Y HLOH] AR FHHIA-
HHt Y TaeT Hedreal wEEE! A weld FH 9 e e
gSaToAT HTAT SaF! R, ATIH! S TRRH W 19T Iael ThA Serl U8l FRvar=! avds
TR, :
(1) 5@, % 15000 2) 2@, % 10000
(3) 10 =, %. 20000 (4) 179, % 5000
Fill in the blanks correctly.

As per the Dowry Prohibition Act, 1961, if any person gives or takes or abets the giving or
taking of dowry, he shall be punishable with imprisonment for a term which shall not be
less than ___ years and with fine which shall not be less than ___ rupees
or the amount of dowry which-ever is more.

(1) 5 years, Rs. 15000 (2) 2 years, Rs. 10000
(3) 10 years, Rs. 20000 (4) 1 year, Rs. 5000

197. ' oTEqeg’’ d=A1 BRON €A Sgfad A=A GSHITEl §l STIHH S0 fhal F0AE TIE HUE
T AR Bk GREIV HIA 1955 < IO HOHER {387 8iges ?

¥ 71 ) @ 70 G 71 @ 7MmE)

The punishment for insult or attempt to insult on the grounds of “untouchability” of a

member of scheduled caste is given in which section of the Protection of Civil Rights Act,
1955 ?

@M 70 @ ) 7(1) () @) 7M© 4) 7@ (d)
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198. HIFET gk Y& TTUfaT 1993 =1 woH 36(2) YHMW, H3TATE! A gFhToN IchuTeared
HAE! gt e o Hied [TETaTH, <eRel hvarsl et fohd! whies HATRT Y ?

(1) =g afe (2) T (3) TAad (4) =y

According to section 36(2) of the Protection of Human Rights Act 1993, what is the time
limit for the Commission to enquire into any matter of violation of Human Rights, from
the date on which the act constituting violation of human rights is alleged to have been
committed ?

(1) Six months (2) One year (3) Two years (4) Five years

199. WAH HTNFRST TT=A1 HIVAT TR YA T FI0AT NSS! AGA T hIvcargt
YRR TSI HAT AT AT 3T ?

(1) 14 2) 15 k) 17 (4) 19

As per which Article of the Indian Constitution, the untouchability is abolished and its
practice in any form is prohibited ?

(1) 14 ) 15 3) 17 (4) 19

200. FEfaF fEamEmra wfea g smEe, 2005 783 feoe AfyaREER Fivam Jurn T-
feemg adrg €5 faur Sigd=ar SIve FoHT S8 Wl dhRR F0grEl Suie gak qifed
nfgser A9 ?

(1) 353 (2) 498 (31) 3) 337 4) 332

Under the Protection of Women from Domestic Violence Act, 2005, besides the right under

this act, the victim woman has the right to file a separate complaint under which section
of Indian Penal Code ?

(1) 353 (2) 498 (A) (3) 337 4) 332

-00o-
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®) WeIgfeRned fafeq o faftre SMiE &= &M (36 9%) ®E.  FETRdHsAiaie Saaiasal o
IR FIRER & FH Hodd o HiUl HOAT=AT LI F6 AR, Y AFS 5o d ATER 3HSaRE
TR T okt ¢ adenined o TRyl Fiasy weamEreTY sifafan-82 " Ardie RgaTIR FNET
FOA AIS | Y A FUS Tk qureA wrmarEre Sfyfaer $99 T TR ThHe el e

9) TR TEUFFRARE EMH fafgd Fod 90 YT SHCaNel § e 6 s TSl

UFA TOAE TEE AR, WA TAST FHeTTaTet WIvaTyE] SRS STyear ST W- 1

ARAYEHTRS 1 foawer w T Snavas A

TR

¥ %. 201 FAE! 916 T HOAMEIE! HI0 Jo0: T F ?

Y. sh. 201.

1) @ e FTEEd @ TvErEg farmamr

(@) TSN THEEA T @ TR T

IR AT I (3) TS TR T o AR, W@ W YR WO (3)" BEe, anad
WYY U9 %. 201 GO ST-HTiH @’ ? Ide YUl BrEfed w&d Irafau
AT 3R,

ONON NO

I TG TR FYfehdie Y& JeArEn U SaGRdie 8 qrRel Sl Teee
RTINS T AT TTTRABEHNT G649 age Uit SEifed HEd qr@aral.  gresir
el THTHAT I3 AToU AR, fde ar smdwr O oo =14,
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